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Summative Assessment — Term 1
Maths — 2024 — 2025

24
Clasg'5 .
Name : %. M.arks : 60
Sectlon : ( Duration : 2 Hours
In each question, sub~divislon (1) carries 2 marks aiid sub—division (i) carries 3 marks.
I. Answer the following questions. ° . j . : . 12x5=60
1. (1) Choose the quarter rotation of the letter —|E
oE  bm - 93 d) L

(i) Draw the half rotatlon of -‘-1

Y
:
]

2. (I) Numbers are arranged below In descending}prdar. Choose the missing number.
199,177,166 , !

a)188 b) 122 ‘ ¢) 1M1 . d) 155

133

() Arrange the numbers In the ascending ordEr. 126, 73, 118, 57,135, 99

- A

3. () 25 Is the square number of

a) 2 b) & d)4
(Il) Circle the square numbers.
1 ' 9 13 - 15 4
25 45 49 50 71
4. (D20m20cm+20m10 cm =
a) 40 m 30 cm b) 30 m 40 cm c)40m40cm d) 30 m 30 cm

k]
(I) If a 5 meter 50 centimeter long plece Is cfn from a 7 meter 60 centlmeter length of lace to
decorato a saree, what wiil be the length of the remaining lace?
.3_ _

!

3 .
!
)

5.(D2mis . ;

a) 2 cm b) 20 cm | c) 200 cm d) 2000 cm
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(Il) Convert to metres. f

. i

7km7m %

8. (I) 7000 - 2005 = :f
a) 4905 b) 5005 ’g ¢) 5005 d) 4995

i3
(i) In a factory with 980 employees, 70 p!!lare sent to Ooty for training and 5 were on leave.
How many people were working In the f 1!0".‘! that day?

3
%
3
7. (D :
Train ‘_,iTlme of departure
Valgal Express z; 06 : 40 hours
Pandian Express i ;" 21 : 00 hours
- ‘ "
The Valgal Express departs at,
L% U
a) 06 : 40 am b)0o6:40pm [ ¢) Noon ' d) Midnight
() Convert to 24— hour clock time.
06 :155am -
07:20pm -
12:30am - =
8.
Favourite snacks
Snacks Aﬂrlrasami Murukku | Paniyaaram | Laddu | Mik sweet
Number of students who liked 60 { 50 40 30 70 -

(I) How many students like milk sweet more than panlyaaram?
a) 10 b) 20 g ¢) 30 d) 40
i
(If) Observe the table and complete the bar graph.

4

70 s =
!
@ 60 =
. :
2 ' {
0 40 = —
5 &
5 30 = =
£ .,
=5 20 — = —
prd
10 = =
o
Athirasam Murukku ~ Paniyaaram Laddu Milk sweet
Favourite snacks :
2
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8. () The angle which Is not fomadi‘l this trlangle Is,
{
a) Acute angle b) Obtuu:lnglo
c) Right angle d) Acute ;nglo and obtuse angle

14
(i) Clrcle the letters which have right angles only-
i

A F Mt
E T N !

¥

\' Z
W 0

(o

10. (I) Choose the correct statement. ¥
a) 70000 + 70+ 7 = 77700 b) 70300 + 7000 + 700 = 70707
¥ _ )
¢) 70000 + 7000 + 7 = 77GO7 d) 70000 + 700 + 70 = 70077

(if) Observe the abacus and flll in the bBlanks.

b

Number name :

Expanded form : - ‘.‘
11 () if 53 x 2 =106, then 530 x 20 = :
a) 10060 b) 16000 ' ;‘ c) 10006 d) 10600
(1) Muitiply : l
145 x 17 13
|
3
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ylll show after 3 hours 10 minutes Is —

forenoon

1
a)10: 25 am b)10: 25 p.m E c)04:25am d) 04 : 25 p.m
4 :

(it) Madhavan leaves Dindigul at 09:30 Inthe morning and reaches Chennal at 08:40 in the
evening. Find the time taken for. his jourhey.
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